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REŠENJA ZADATAKA 
 
 
 
 
1. a) Ω6061 =R ; kΩ2.22 ≈R ; kΩ53 =R . 
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RrRul ; kΩ53 == RRizl . 

 
d) 0=IV ; 

4.8V=IMAXv  ( 3Q  na granici zasićenja); 5V−=IMINv  ( 3Q  na granici zakočenja); 

4.8Vmax =imV . 

 
 
 
 
 
4.  

constvI == 11,4V]V[ , za 11,4VV12 −≤≤− Gv  (IOP-poz. zasićenje, D -ON, Q -OFF); 

]V[]V[ GI vv −= , za 011,4V ≤≤− Gv  (IOP-lin. režim, D -ON, Q -OFF); 

]V[]V[ GI vv −= , za 11,4V0 ≤≤ Gv  (IOP- lin. režim, D -OFF, Q -DAR); 

constvI =−= 11,4V]V[ , za 12VV4,11 ≤≤ Gv  (IOP-neg. zasićenje, D -OFF, Q -DAR). 

 
constiC == 0]mA[ , za 0V12 ≤≤− Gv ; 

]V[1,0]mA[ GC vi = , za 11,4V0 ≤≤ Gv ; 

57,0]V[05,0]mA[ += GC vi , za 12VV4,11 ≤≤ Gv . 
 
 


